Further Maths GCSE
Circles
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The diagram shows a sketch of the circle  (x — 7)2 +- 4)2 =9
The line y = 6 intersects the circle at A and B.

Show that AB= 25
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with centre C.
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Work out the equation of the circle.
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The line x = —9 is a tangent to the circle, centre C(8, 20)
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Show that the radius of the circle is 17.

The circle intersects the y-axis at 4 and B.

Show that the length 4B is 30.
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x2 —2v+y? -6y =0 is the equation of a circle.

By writing the equation in the form (x— a)2 +(— b)2 -2
work out the centre and radius of the circle.
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Circle A has equation ¥ +y2 =16
Circle B has equation (x+ 6)2 +(y— 8)2 =25

Work out the distance between the centres of the circles.
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Work out the equation of the circle.




image3.png
P(0,4)

o Q(4,0) R (10,0)

Explain why the centre of the circle lies on the line x =7.
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Work out the equation of the circle.
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The sketch shows point P on a circle, centre C.

The equation of the tangentat Pis  y =13 - 2x
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Work out the gradient of PC.
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Work out the equation of the circle.




